
Ein	Landwirt	musste	eines	Tages	eine	Ziege,
seinen	Hund	und	einen	Kohl	über	einen	Fluss
bringen.

Er	hatte	dazu	ein	Ruderboot,	in	dem	er	aber	nur	jeweils	höchstens
eines	dieser	Tiere	oder	den	Kohl	transportieren	konnte.	Allerdings	hatte
er	noch	zwei	Probleme:

1. Er	konnte	den	Hund	nicht	mit	der	Ziege	allein	lassen,	denn	die
Ziege	und	der	Hund	vertragen	sich	nicht.

2. Er	konnte	die	Ziege	nicht	mit	dem	Kohl	allein	lassen,	denn	dann
würde	die	Ziege	den	Kohl	fressen.

Finde	einen	Weg,	wie	der	Landwirt	das	Problem	geschickt	lösen	kann.
Er	kann	natürlich	mehrmals	mit	dem	Boot	hin-	und	herfahren.

Auf	die	Reihenfolge	kommt	es	an!


